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(ii)
(iii)
(iv)

I8 F7-TF @7 97T ° [y 8- &, @ KT

g1 % Gt Sl & fore sfAard 8

gheTfefl &1 Y 97T @ N T H G HlF Uk YT 57 HEAT &
fadt I97 & gyl YTl & IR U & T R 1@y |

General Instructions :

(1)
(ii)
(iit)
(iv)

67/1/3

This question paper contains three parts A, B and C.
Part A is compulsory for all candidates.
Candidates can attempt only one part of the remaining parts B and C.

All parts of the questions should be attempted at one place.

HTT <k
(TSR wHT qUT i o forg SEie)
PART A
(Accounting for Partnership Firms and Companies)

Tgad! gfayfd o €9 § Fog=i o 0T & =1 aread § 2
What is meant by debentures issued as collateral security ?

TN <hl TG Torshl o1 T 379 8 2

What is meant by private placement of shares ?

T, & QAT IR Th BH H ATGR o S A9l ! HUM: 5 : 6 : 7 o U H
fownfra st 9 | IR IS IR T 5,00,000; T 6,00,000 TAT T 7,00,000
off | 3R < gcg <l <1 H WH hT T 16,00,000 1 ©AT(T Hl TR T FHRISH
T qen & & YSft wral § foh s1quTa § foher Smam ¢ 3g@ fifv |

A, T and R were partners in a firm sharing profits in the ratio of
5 : 6 : 7 respectively. Their capitals were ¥ 5,00,000; ¥ 6,00,000 and
T 7,00,000 respectively. State the ratio in which the goodwill of the firm
amounting to ¥ 16,00,000 will be adjusted in the capital accounts of A
and T in case of R’s death.



4.  HrO AfafEm, 1956 6T GREM T TR Th HFOHT GRIT SR AT I TR

W fope 8 =T age fohan Sma 2 1

At what rate will the interest be charged by the company in case of
calls-in-arrears according to Table A of the Companies Act, 1956 ?

5. T AC HIEGR g @Tld o T Sifirm o 9§ yae i gg aft o6,
form wffeufa o wd <t qeaent & &1 femar e 2 1

Under what circumstance will the premium for goodwill paid by the

incoming partner not be recorded in the books of accounts ?

6. 39 GHRi 1 A FATST S BH o THI oh THI S @Id H T 98 Hl R
BT &l <hl SITdl, <ifehd BH o THIIA o THI I IHehT fIshd Tomam ST 2
A FS G T I B R | 1

Name the asset that is not transferred to the debit side of Realisation

account, but brings certain amount of cash against its disposal at the
time of dissolution of the firm.

7. IR S I HT AHE HH 5 9T § Gl o 14 8 | nfidr S
HIEER &, < 1 i o5 36 sqaa™ &1 Ye=uA 1 fhan 2, 31 38 T 10,000
1 AT a9 e =T | s 98 a9 9 bl TRt 8 2 ShRUT §dTsy | 1

The partnership deed is silent on payment of salary to partners. Amita, a

partner, claimed that since she managed the business, she should get a
monthly salary of ¥ 10,000. Is she entitled for the salary ? Give reason.

8. wm fafis 7 T 10 9% % 1,00,000, 6% FUTET H T 2 Ifd FOOT &
fiftem w1 3189, 2012 1 MG fomn | ffm e stifiga gen | =S
H PAH TH foxiE a9 o F H fohal @ | 99 2012 — 13 % foQ
AT s gfafsear i | 3

Sargam Ltd. issued ¥ 1,00,000, 6% debentures of ¥ 10 each at a
premium ¥ 2 per debenture on 18t April, 2012. The issue was fully

subscribed. Interest will be paid at the end of each financial year. Pass

necessary journal entries for the year 2012 — 13.

67/1/3 3 P.T.O.
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T g Usd $ a1 § T 8,00,000 HT iEa a9 Afid foham g | THEY
EEE I AHRT A G 10% & | STIEE hl ol qHAradi o ATl
eI SH: T 22,00,000 AT T 5,60,000 A1 | ey fafy & wH 61 w0fd &

™ I TUMT HITVT A BT T HoATohA ITIATH 6 zéaﬁ%m%w
foparr s 2

A business earned an average profit of ¥ 8,00,000 during the last few

years. The normal rate of profits in the similar type of business is 10%.
The total value of assets and liabilities of the business were ¥ 22,00,000

and T 5,60,000 respectively. Calculate the value of goodwill of the firm by

super profit method if it is valued at 2 1 years’ purchase of super profits.

Hga1 fafiee Sl < fmiar @ | e, Seol Afafem o JeuEi qen |et W
ATl o J&I07 o foug T 3fca=d Tdeh & | 1 310, 2010 i, ST 4 T 100
Y% % 90,000, 10% ROg=l 1 fiea fran on | g9emt sed 109% Hiftem
fopam ST e | 31 W, 2012 WY, Gt wOTgET 1 Sed K T e | g S
o 10 § 9y YGEUT BT @, 3A: HEH A Heh TWTell e % fow us w
TerTfua femam |

RO o M hl AE9Ih U= gfosedi HIfSe | el grn sraeiferd
qed ! 9ga ot I | a8 7F foen w8 76 St & ko ed w99
eicR: Dl

Mehta Ltd. are manufacturers of shoes. The company is very particular

about the observation of the provisions of the Companies Act and SEBI
guidelines. On 1% April, 2010, the company issued 90,000, 10%
debentures of ¥ 100 each. The debentures were redeemable at a premium
of 10%. On 315t March, 2012, all the debentures were redeemed. Since
the manufacturing of shoes results in air pollution, the company had

installed a plant for its effective control.

Pass necessary journal entries for the redemption of debentures. Also
identify the value observed by the company. It is assumed that the
company has adequate balance in Debenture Redemption Reserve

Account.



11. T, T 991 U9 AR o St @i 1 A 4 : 2 : 1% g9 | fowfa
Hd 9 | 31 °, 2013 1 3R Fefa-faawor g o -

Terfa-feremor 31 7L, 2013

3 3

il
tC| 60,000 | T 14,000
T 40,000 | Thee 30,000
TS 30,000 | GTER 22,000
[SECE 30,000 | 9e 40,000
< fau 4,000 | G 53,000
A T 21,000 | A a7 26,000
1,85,000 1,85,000

Ik Tl ol W A Sfaehrr T8 feram don ffefiad % fofg w&mfd s -

() Sl QT CAQTAT 1 JedTehd 36 TR B3 : Thd T 24,000; G
T 21,000; Y99 T 45,200; TIF T 50,000 AT TSR T 28,000 |

(i) T ! A T TR BT TAFTROT 3T F0T @I | foham @ |

JHcATR @1 AT T M ISt @1 dIR hiT | 4
67/1/3 5 P.T.O.



Raman, Ratan and Rajan were partners sharing profits in the ratio of

4 : 2 : 1 respectively. Following was their Balance Sheet as at 315t March,
2013 :

Balance Sheet as at 315t March, 2013

Liabilities AmOURt | 4 sets Amount

Capitals :
Raman 60,000 | Cash 14,000
Ratan 40,000 | Stock 30,000
Rajan 30,000 | Debtors 22,000
Creditors 30,000 | Building 40,000
Bills Payable 4,000 | Plant 53,000
General Reserve 21,000 | Motor Van 26,000
1,85,000 1,85,000

12.
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On the above date Raman retired and following were agreed :

1) The assets and liabilities were valued as : Stock ¥ 24,000,
Debtors ¥ 21,000, Building ¥ 45,200, Plant ¥ 50,000 and
Creditors ¥ 28,000.

(11) Amount due to Raman will be transferred to Raman’s loan
account.

Prepare Revaluation Account and Raman’s Capital Account.

(%) TS IR FSfla T HH H AECEE & S A 3 : 2 h A H o
fowfia =td € | 9 fosia =1 T AU wEER & w9 H Wi wUd @ |
oo & wer O Tofile 3 e fe=g &1 1/4 9T e Heig 3 319 R
1/3 W &1 QAW fopal | Ui, siia aom Tt o 94 A -fawms ogam
I AT HIT |

(@) srfar aur gHiar ueh wH H AeigR 8 o hUS: 3 : 2 % U H oy
oo std 2@ | o Torfidn 1 T A |IERR % ®9 H 1/4 W % faQ
TR od & | AT qon gAar &1 = nw-fawsE e 2 1 8 |
3k TIWT 3TUTd <hl TUMT ST, | 2+2=4

6



(a) Rajeev and Sanjeev are partners in a firm sharing profits in the
ratio of 3 : 2 respectively. They admit Vijay as a new partner.
Rajeev surrenders 1/4 of his share and Sanjeev 1/3 of his share in
favour of Vijay. Calculate new profit sharing ratio of Rajeev,
Sanjeev and Vijay.

(b)  Anita and Sunita are partners in a firm sharing profits in the ratio
of 3 : 2 respectively. They admitted Vinita as a new partner for 1/4
share. The new profit sharing ratio between Anita and Sunita will
be 2 : 1. Calculate their sacrificing ratio.

o

13. = fafiee 7 @ fdftes 1 =Iad g3 =WaE™ T 1,50,000 s 911§ 563 foham
o1 gaE T 10 TS & 1oooowmﬁﬁ T 2 iftEm ufd 319 W
fifirg <hteh e 39 TR i Uk § WIAH Hleh fohaT 7T | FHIfl TF AT
T ft o

AT — T 40,000; W — T 40,000; SR — T 30,000;

ThH — T 50,000; B=X — T 20,000; TSR — T 20,000.
% fafiee & geasl @ 3T el o fou sawees Teemg=n gfafseat hifse | 4
A Ltd. purchased a running business from B Ltd. for a sum of
T 1,50,000 payable by issue of 10,000 equity shares of ¥ 10 each at a
premium of ¥ 2 per share and balance in cash. The assets and liabilities

taken over were :
Plant — ¥ 40,000; Building — ¥ 40,000; Debtors — ¥ 30,000;
Stock — T 50,000; Furniture — ¥ 20,000; Creditors — T 20,000.

You are required to pass necessary journal entries for the above
transactions in the books of A Ltd.

14. & fafiee %1 ST T 10,00,000 1 3Tfepd St @ g3 A T 10 TAH 6
guar 39 | fowes oft | o 9 50,000 3T % iR & foiw stees smfEa
fohU | 48,000 37=1i & fo1Q srreg W gW | |t Fremn wiRn @i <t 78 qer ww
Bl T8 haal 1,000 37N i Biet, v W T 2 gfd 319 Y 1feqw ar=mn iy 78
fieft | 37 Joft oreli @ Feq X o T qen W1 § T 9,000 W YU Yed :
i s feam |

(i)  HEOT ATAFIE, 1956 i AR VI, HFT 1% ITTHR & THes o &afd
faawor & ‘=1 IS o fope wehR q@ifen Sam 2

(i) 3I9Yh o Q. @i & g o TR FHIT | 4

67/1/3 7 P.T.O.
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A Ltd. was registered with an authorised capital of ¥ 10,00,000 divided

into equity shares of ¥ 10 each. The company invited applications for the

issue of 50,000 shares. Applications for 48,000 shares were received. All
calls were made and were duly received except the final call of ¥ 2 per

share on 1,000 shares. All these shares were forfeited and later on
re-issued at ¥ 9,000 as fully paid.

1) Show how ‘Share Capital’ will appear in the Balance Sheet of
A Ltd. as per Schedule VI, Part I of the Companies Act, 1956.

(i1)  Also prepare ‘Notes to Accounts’ for the same.

H, & AT Y Th BH U HISER & S o 1 HES: 50 3 : 2% U | farrfor
L 2 | 31 femrsw, 2012 1 I9em1 fearfa-faewo ffoarfaa o .

Teorfa-feraon 31 fewrar, 2012
T T

g Uocd 1,10,000
<} 3,00,000 | 9 2,00,000

9 2,50,000 | AR 3,00,000

T 1,50,000 | Theer 1,00,000
[SECAE 1,10,000 | 3TER 80,000
T 60,000 | Ths 80,000
8,70,000 8,70,000

1 TR, 2013 I, AR o HROT 31 hHT G &1 T8 | BH qAT 37 o 5ATCHI h
HeY g GHSHIAl g3 foh 3T I ¢F YT 1 YA TMid | T gmiel fafepcame™
fmtor & fora STTem | w9Eid % STHAEN

() TG 1 Goamhd TUScl IR 961 & 379d oW & & T4 o SUe 8,
S : 2009 T 1,00,000; 2010 T 1,60,000; 2011 H T 1,80,000 T
20121 ¥ 2,00,000 ¥ |

(i) Ueg® H THeAd T 90,000; WAL W T 2,80,000 @
He &1 T 2,50,000 3T |
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(i) Hcg o T %k 31 < Toxd o ATH I AT, 99 2012 % AW o X T

gl |

(iv) St W 10% a1feh & & =T T s |
(v) 3 o fI5uTeeh ol < UM @9 @id | LAHEad T ¢ e |

() 31 < FaTEeh Wl TEA B o foIT 3Fe1 Yot @rar AR i |

(@) Y H IR fopu T foreft T gew it ggE HIfT |

A, B and C are partners in a firm sharing profits in the ratio of 5 : 3 : 2

respectively. Their Balance Sheet as on 315" December, 2012 was as

follows :
Balance Sheet as on 315t December, 2012

Liabilities Am;unt Assets Am;unt
Capitals : Patents 1,10,000

A 3,00,000 | Building 2,00,000

B 2,50,000 | Machinery 3,00,000

C 1,50,000 | Stock 1,00,000

Creditors 1,10,000 | Debtors 80,000
Reserves 60,000 | Cash 80,000
8,70,000 8,70,000

A died on 15t October, 2013, due to illness. It was agreed between the
firm and A’s executors that the amount due to A will be used for
construction of a Charitable Hospital in a village. As per the agreement :

(i)

(i1)

Goodwill was valued at 2 years’ purchase of average
profits of last 4 years, which were 2009 - ¥ 1,00,000;
2010 - ¥ 1,60,000; 2011 - ¥ 1,80,000 and 2012 — < 2,00,000.

Patents were revalued at ¥ 90,000; Machinery at ¥ 2,80,000 and
Building at ¥ 2,50,000.

9 P.T.O.
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(iii)  A’s share of profit till the date of his death will be calculated on the
basis of the profit of the year 2012.

(iv) Interest on capital will be provided at 10% p.a.

(v)  Amount due to A’s executors will be transferred to Charity
account.

(a) Prepare A’s capital account to be presented to his executor.

(b) Identify any one value being highlighted in the question.

%, @ AA T TH BH H WEER A | 1 A, 2012 H IJH o HA:
T 5,00,000; T 2,50,000 9T T 250,000 ff | EECH) H@ % WEYUMEl %

IR
() Tl T 5,000 Id ATE AT ITH T (R T |

(ii) o ! Ifd 99 T 80,000 HHIIH ITH T MRHT o |

(iii)  HTSIERI I IS W 6% STk TS T T AIRR o |

(iv) ®TgieR ol st doft srgura # feenrfora 63 |

31 AT, 2013 ! THTE B At a9 1 g 19 T 3,00,000 T, Sreept faurs=
39 TEEHI hl IH H W o SUeR-ae e e | o S feoofi
! Tl fQEed gY, 3UY & foIg e FHmEs gafse Hify |

A, B and C were partners in a firm. On 15t April, 2012 their capitals
stood as ¥ 5,00,000; ¥ 2,50,000 and < 2,50,000 respectively. As per
provisions of the partnership deed :

) C was entitled for a salary of ¥ 5,000 per month.

(i1) A was entitled for a commission of ¥ 80,000 p.a.

(i1i) Partners were entitled to interest on capital @ 6% p.a

(iv)  Partners will share profits in the ratio of capitals.

Net profit for the year ended 31.03.2013 was ¥ 3,00,000 which was
distributed equally, without taking into consideration the above
provisions. Showing your workings clearly, pass necessary adjustment
entry for the above.

10
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T 3 ST T BH W WHER I S HEHH M § =ANR KA I | 1 300,
2013 1 3781+ T I, S el H 984 =] T 7, HHGR § T AT |
T GHSAT H T 4 39T T F1Y @I {1 a1 Tewl wE ter 4 a8 i fomn
6 3 T M T T H GR ¢ < | 31 °HE, 2013 I Tew IR el w1

feyrfq-foawor fremgam o -
TethT auT siter ot feafa-feemor 31 v, 2013 &t
Tfee ot & fau e 40,000 | Uhg 1,00,000
i afagfd Ffa 56,000 | fafay Ter 8,00,000
3 =T 30,000 | € 2,00,000
R 3,00,000 | G 3,86,000
goft IEEIIERCIG] 40,000
T 5,00,000
el 6,00,000 | 11,00,000
15,26,000 15,26,000
T @ fEfRad wral W wH § A T e
(i) T U ISt o TR o 9 H T 4,00,000 SCM, Al 98 ©AMd
fore =18 off wfyr o7 & sreme o

(i) T, SieT an T o sfie = oy faweH STuTd 302 180 |
(iii) HHAR @fagfd 1 T 30,000 T TET o1 |

(iv) T 40,000 i TRT =l gad kT o foiw sfeifad m o |

(v) TFGRI Sl T 20,000 3T A4 T foham T=IT o1 |

(vi) 37T =9F &I T 12,000 I AT 7 |

(vii) 3TITIRIE <Ia1 o faw T 20,000 e fry U 3 |

(viii) H h! EAT T oA < 1,80,000 R foham w1 7 |

QeI GTdT, HIEIGRI Yol @Td q91 95 HH o1 TR fefd-foetor dan

HifST | Ty g fopet Tk qo I qgaE HINT S AEIGR 99 i qEiid

HET AR |

YT

11
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W 3R T T BH § T8GR o ST ATHI i ShAS: 2 @ 3 A9 | fawrfra
Hd A | d Jg B TS A qAT Ieh ATHE hl C@HTA A ATl g T8l oA |
3d: I8 FIHU ! 9 hich 3Teh [dshd U ATH YUIRT bl Tsh TA.S.37. <l
A H o w fofa fon | aw wShen. weh & | wgwe feEm % faw
FRIIU o Hd H e off | 31 S, 2014 Wi 3R feufa-faewo Frafafaa
aq1 :

Teufa-feramor 31 s==dt, 2014

Sored af3t g qf3t
T 3
TER 65,000 | qfH 1,20,000
e fam 35,000 | AN 65,000
IS 2] 10,000
T 75,000 | T 25,000
vy 75,000 | TTER 20,000
Thg 10,000
2,50,000 2,50,000

TH 4 TFERI S PAE 15% B W oha1 den T 4 ¢ o=l 1 QU Jae
fopan | wraferel | el 39 TR g8 : YW W 20% %A; w0 | T 35,000;
hg ¥ 25% 9 qAT ¢IEN & T 12,500 | I = T 1,750 T PAE W
= TR |

gl @dT, |RERi o St @Id 991 S @Il dIR I | |Eerl gR uS
! TEINT foret weh goar <l ggam ot hifs |

12
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Alfa and Beta were partners in a firm. They were trading in artificial

limbs. On 15t April, 2013 they admitted Gama, a good friend of Beta into

the partnership. Gama lost his one hand in an accident and Alfa and

Beta decided to give one artificial hand free of cost to Gama. The Balance

Sheet of Alfa and Beta as at 315 March, 2013 was as follows :

Balance Sheet of Alfa and Beta as at 315t March, 2013

A A
Liabilities MUY | Assets mount
Provision for Doubtful 40,000 | Cash 1,00,000
Debts
Workmen’s 56,000 | Sundry Debtors 8,00,000
Compensation Fund ’ undry T
Outstanding Expenses 30,000 | Stock 2,00,000
Creditors 3,00,000 | Machinery 3,86,000
Capitals : Profit and Loss A/c 40,000
Alfa 5,00,000
Beta 6,00,000 | 11,00,000
15,26,000 15,26,000

Gama was admitted in the firm on the following terms :

1) Gama will bring in ¥ 4,00,000 as his share of capital, but he was

unable to bring any amount for goodwill.

(ii)
3:2:1.
(iii)
(iv)
(v)

13

To write off bad debts amounted to ¥ 40,000.

Creditors were paid ¥ 20,000 more.

Claim on account of workmen compensation was I 30,000.

The new profit sharing ratio between Alfa, Beta and Gama will be

P.T.O.
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(vi)  Outstanding expenses be brought down to ¥ 12,000.
(vii) ¥ 20,000 be provided for an unforeseen liability.
(viii)) Goodwill of the firm was valued at ¥ 1,80,000.

Prepare Revaluation Account, Capital Accounts of Partners and the
opening Balance Sheet of the new firm. Also identify any one value which
the partners wanted to communicate to the society.

OR

Ram and Shyam were partners in a firm sharing profits in the ratio of
2 : 3 respectively. They become old and no one was there to look after
their business. Therefore, they decided to dissolve the business and
donate the amount available to an NGO who are providing service for
growing trees in urban areas to control pollution. On 315! January, 2014
their Balance Sheet was as follows :

Balance Sheet as on 315t J anuary, 2014
Liabilities Am;unt Assets Am;unt
Creditors 65,000 | Land 1,20,000
Bills Payable 35,000 | Machinery 65,000
Capitals : Goodwill 10,000

Ram 75,000 | Stock 25,000
Shyam 75,000 | Debtors 20,000
Cash 10,000

2,50,000 2,50,000

Ram paid the creditors at a discount of 15% and Shyam paid Bills
Payable in full. Assets realised as follows : Land at 20% less; Machinery
at ¥ 35,000; Stock at 25% less and Debtors at ¥ 12,500. Expenses on

realisation ¥ 1,750 were paid by Shyam.

Prepare Realisation Account, Partners’ Capital Accounts and Bank
Account. Also identify any one value which the partners communicated to
the society.

14
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(%) € fafies 3 T 100 I & 1,000 370 1, Sept frmmm = 8 ufa =1
@ &g T Toman T o, Sed L T | 39 3 W T 30 Uid AW I gem
FreET RN ATH A8 g8 off 9o T 20 wid 31 i sfeaw e Ui Al
Hirf 781 TS off | 91G 39 ST Bl T 70 T I H W H T 80 Y& W
g fifea e femm e |
o Tt 1 gdeni H 39U TeAl o T STTeRash ASHm= Slafsed
IS |

(@) ta fdafies 3 T 20 99 & 470 9ar 3N 1, e foima = 3 fa
W o fiftem w e mn o, Sed o form | 39 oA W T 8 ufd 3w
i fraed Uiyt (T 3 fiftem wfzq) qen = 5 gfa otwr it vom I iy
T YA T A1 BHAT | T 5 Ufd 31 <l HAlqH Freqn i st A&
A S off | ST § 235 % 1 T 19 Ul 3 o YAH W I Yed €9
ﬁ?:%ﬁ%Wl

ue foAfieg 6t gEashl § 3Wh THeH o foIu etavaes UsHm=n gfafseat
HITT | 4+4=8

HYAT

IR fAfids 3 T 100 I¥% % 10,000 THAT ;M H T 4 Ufd 3T & §g W
fifia &t o fote o1maeT smf=a fope | afyt fegam < oft .

ST W — T 20 Ufd 31

e W — T 30 Ui 37

Y| TF AT I=ET | — T 46 T A7
9,000 37T o T 3TTeIGA ITH U T Tt STTaIGehi ol M 1 e L fea
T | weft < ufiEd uTe g TE ke 400 A HI Bres g yug vd Af<m
IrEET R AR @ | T ST I Feqd L forn W | Hed fopu gu oo H 4,
300 37T I T 27,000 % YA W qUf Jed YH: it =t fezm m |
HT < JEdenl § 3TTawesh Usim=n gfafseat Sifs | 8

15 P.T.O.
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(a)

(b)

C Ltd. forfeited 1,000 shares of ¥ 100, each issued at a discount of
T 8 per share. On these shares the first call of ¥ 30 per share was
not received and final call of ¥ 20 per share was not made.
Subsequently these shares were reissued at ¥ 70 per share ¥ 80
paid up.

Pass necessary journal entries for the above transactions in the

books of C Ltd.

L Ltd. forfeited 470 equity shares of ¥ 20 each issues at a premium
of ¥ 3 per share for the non-payment of allotment money of ¥ 8
(including Premium < 3) and first call of ¥ 5 per share. Final call
of ¥ 5 per share was not made. Out of these 235 shares were
reissued at T 19 each fully paid.

Pass necessary journal entries for the above transactions in the

books of LL Litd.

OR

R Ltd. invited applications for issuing 10,000 equity shares of ¥ 100 each

at a discount of ¥ 4 per share. The amount was payable as follows :

On application — ¥ 20 per share
On allotment — ¥ 30 per share
On first and final call — ¥ 46 per share

Applications were received for 9,000 shares and allotment was made to

all the applicants. All amounts due were received except the first and

final call on 400 shares. These shares were forfeited. Out of the forfeited

shares, 300 shares were reissued at a payment of ¥ 27,000 fully paid up.

Pass necessary journal entries in the books of the company.

16



CINRCH
(o<t ferawoi =t forveteroT)

PART B

(Financial Statements Analysis)

19. RU Gigd 9dEU fo Uehg YaTg foemor R d 999 Wb Afia & fdshdr i
TR0 & T % fT T 50,000 % 9% Foa fifid & &1 = iy gem
— Uh3S I Iqdig, digdig 1G] his T8 T8l ? 1

State with reason whether the issue of 9% debentures to a vendor for the
purchase of machinery of ¥ 50,000 will result in inflow, outflow or no

flow of cash while preparing Cash Flow Statement.

20. fofia faawon & favawor & Tl s 32w 1 3g@ FifvT | 1

State any one objective of analysis of financial statements.

21. Uhg JdTE IR0 GIR id T Uehg hl digaig ¥ 1 3TN Bl § 2 1
What is meant by outflow of cash while preparing Cash Flow Statement ?

22. &t fyfRm, 1956 i dfEnfyd @weft VI 9m 19 ogER HE %

Tedrfa-foewo # fafaRaa ¢ fora g sfides o o=l quifs S : 3
(i)  CreeTel
(i) SR gFard

(iii) o o foIT IMSHE
(iv)  Sfavfa Shifem a=
(v) UdH

o

(vi) 3I9IRld 3T

67/1/3 17 P.T.O.



State under which major headings the following items will be presented
in the Balance Sheet of a company as per revised Schedule VI Part I of
the Companies Act, 1956 :

) Long Term borrowings

(i)  Trade Payables

(1i1) Provision for tax

(iv)  Securities Premium Reserve
(v)  Patents

(vi)  Accrued Incomes

23. Tfafad @ Aa @9 U@ qol SRR S TEd AU ohl IO

ahr (F)
e ¥ A 30,00,000
T ¥ I AT 20,00,000
=], FedfeEt 6,00,000
e I 2,00,000
YT TR YSil 5,00,000

From the following calculate the ‘Gross Profit Ratio’ and ‘Working
Capital Turnover Ratio’ :

Amount (<)
Revenue from operations 30,00,000
Cost of Revenue from operations 20,00,000
Current Assets 6,00,000
Current Liabilities 2,00,000
Paid up share capital 5,00,000

67/1/3 18



24. St fdAfids = 31 976, 2012 91 2013 I GHH §C a6 & Fefafad foewon @

ATCHeh TH-BTH foawor dam shife
r— T | 31.03.2013 | 31.03.2012
HET 7 T
ST | A 20,00,000 | 25,00,000
HHAN AT g 5,00,000 |  6,00,000
A = 1,00,000 | 1,50,000
sl el 50% 50%

67/1/3

From the following particulars of Jee Ltd. for the years ended on

315t March, 2012 and 2013, prepare a Comparative Statement of Profit

and Loss :

. Note |31.03.2013 | 31.03.2012

Particulars
No. .4 <
Revenue from operations 20,00,000 | 25,00,000
Employees’ Benefit Expenses 5,00,000 6,00,000
Other Expenses 1,00,000 1,50,000
Tax Rate 50% 50%
19
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25. Tfafaa feafa-faator o toe yarg faaor dam Hifse
e 31.3.2013 31.3.2012
feraon el 3 T
I — THAT 9T AT :
1. | svrar ffer
(37) 7= it 6,30,000 5,60,000
(9) @== @@ AT 1 3,08,000 1,82,000
2. | =ITe] g ¢
ST SIdaTd 2.,80,000 1,82,000
HA 12,18,000 9,24,000
II - gttt :
1. | 31 uiErg T
T qiEr T
LS| 3,92,000 2,80,000
2. %ITFLWﬁ'HTQﬁ?ﬁ:
(37) &Y 98,000 1,40,000
(%) eamaTies wfet 6,30,000 4,20,000
(|) g qd1 Uhg e 98,000 84,000
HA 12,18,000 9,24,000
Wl o |
e = 1
- 31.3.2013 | 31.3.2012
T T
T TS AT
s (- Fre 5 8) 3,08,000 | 1,82,000
STaRE T :
() T QU e I, e gEde ged T 42,000 o1, T 56,000 B 9
fean ma
(i) a9 o SH TIAh i g8 Herdt T 28,000 ot |
67/1/3 20




Prepare a Cash Flow Statement from the following Balance Sheet :

Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Fund :
(a) Share Capital 6,30,000 5,60,000
(b) Reserves and Surplus 1 3,08,000 1,82,000
2. | Current Liabilities :
Trade Payables 2,80,000 1,82,000
Total 12,18,000 9,24,000
II - Assets :
1. | Non-Current Assets :
Fixed Assets :
Plant 3,92,000 2,80,000
2. | Current Assets :
(a) Inventories 98,000 1,40,000
(b) Trade Receivables 6,30,000 4,20,000
(¢) Cash and Cash Equivalents 98,000 84,000
Total 12,18,000 9,24,000
Notes to Accounts
Note No. 1
Particulars 31.3.2013 | 31.3.2012
3T <
gs:;z%:ﬁicseﬁp Sl1l:.lastement of Profit and Loss) 3,08,000 | 1,82,000

Additional Information :

(1)

67/1/3

(i1)

T 56,000.

21

An old machinery having book value of ¥ 42,000 was sold for

Depreciation provided on machinery during the year was ¥ 28,000.

P.T.O.



19.

20.

21.

22,

23.

24.

67/1/3

TR T
(erfrenfera erate)

PART C

(Computerised Accounting)

foregl o1 faferat o1 v =& s (Fadl) Scaar <t 511 Fehdt @ |

Give any two ways in which a query can be created.

HTHT=RT0T 7 3 2

What is normalisation ?

AT TG YT b TohEt Teh 1Y T 3@ shifaT |

State any one advantage of Computerised Accounting System.
frehfer TRETeh JUTTelt o STuTiUaT (Thalfafardt) qen fovawfarar weon i

HHARRY |

Explain Scalability and Reliability features of Computerised Accounting
System.

Teh G h! TEEAT | T 1 TR L It HeHl 1 3T HIT |

State the steps to validate data with a formula.

JTRSI-3MIR. (STEeH) & el o €4 o GROEN, Tepfaat, fdaeAr qon
T (I i THATSY |

Explain Tables, Forms, Reports and Macros as database objects.

22



25. (%) Tiesfic o 39 HR H AW FARY qA THIAET A3 Ffafat - faw
TR &1 <l TUHT KL B S AR ST ST T it & |

(@) Ffafgd a1 9 Tod R T8 R v 6t ToE1 8g §3 1 O
i
A 9a4 T 15,000 Toh 10% i G & qAT 306 HW 15% 1 @ H | 4+2=6

(a) Name and explain the function of spreadsheet which calculates the
accrued interest for security that pays periodic interest.

(b)  Calculate the formula from the following information on Excel for
computing House Rent Allowance :

Basic Salary upto ¥ 15,000 at 10% and above it at 15%.

67/1/3 23



Q. Set No. Marking Scheme 2013-14 Distributi
67 | 67 |67 Accountancy (055) (Compartment) on of
/1 1/1 | /1 Delhi —67/1/3 marks
/1 1/2 |/3 Expected Answers / Value points
- - 1 Q. What is meant by...........ccceeeeunueeeee. Collateral security? 1 mark
Ans. Debentures issued as collateral security means when a company issue its debentures to
the lenders in addition to some other assets already pledged as primary security.
4 1 2 Q. What is meant.........cccceerrrrrreennnccceennnne placement of shares? 1 mark
Ans. In case of ‘Private Placement of shares’ shares are not offered to the public in general
through public issue but offered to a selected group of persons such as promoters, their freinds,
shareholders of group companies, mutual funds, NRls, Financials Institutions etc.
- - 3 0 TR Vi 1 - N R’s death. 1 mark
Ans. Gaining Ratio i.e. 5:6
- - 4 Q. Atwhat ..., Companies Act’'1956. 1 mark
Ans. As per table A, company can charge interest @5%p.a. on the amount of calls in arrears.
2 - 5 Q. Under what .......cccoevvviiiiiiiinninnncinnnnnns account. 1 mark
Ans. When the incoming partner pays the amount of goodwill to the old partners privately
outside the business, no entry should be recorded.
3 - 6 Q. Name the......cccccviiiiiiiiiniiiiiciiinnnnnn, dissolution of the firm. 1 mark
Ans. Unrecorded assets.
1 - 7 Q. The partnership deed ...............cccccc........ ? Give reasons. Yo+ V¥s=
Ans. No, she is not entitled for salary. 1 mark
Reason: As the partnership deed is silent on the payment of salary.
9 - 8 Q. Sargam Ltd. ....cccvveeeeiiiiiiiiiinineneens year 2012-13.
Ans.
Books of Sargam Ltd.
Journal
Date Particulars LF Dr (%) cr (%)
2012 Bank A/c Dr. 1,20,000 Y
April 1 To 6% Debenture application & 1,20,000
allotment A/c
(For 6% debentures issued and
subscribed by public)
April 1 6% Debenture application & allotment 1,20,000
A/c Dr. 1
To 6%debentures A/c 1,00,000
To Securities premium A/c 20,000
(For debentures allotted at premium)
2013 6% Debenture Interest A/c Dr. 6,000
March 31 To debenture holders A/c 6,000 %2
(For interest due on debentures)




March 31 Statement of P/L Dr. 6,000
To Debentures Interest A/c 6,000 Y
(For Interest transferred to statement
of P/L)
March 31 Debenture holders A/c Dr. 6,000
To Bank A/c 6,000 Iz
(For interest paid to debenture
holders)
NOTE: Full credit should be given for writing security premium account or security premium 3 marks
reserve account.
9 Q. A BUSINESS....ccctveunnniiiiiiiiinnnnnnnsssieenianees profits.
Ans.
Goodwill = Super Profits * 2 % Years’ purchase Y
Normal Profits = Capital Employed * 10 /100
Capital Employed = Assets — Liabilities 1
=% 22,00,000- X 5,60,000
= % 16,40,000
Normal profits = ¥ 16,40,000*10/100
=% 1,64,000
Super Profits = Average Profits — Normal Profits Y
= 8,00,000-1,64,000
=% 6,36,000
Value of Goodwill = 6,36,000*5/2 1
=% 15,90,000 =3 Marks
10 | Q. Mehta Ltd.......cceeeerieerieeninnninenennnennnennn account.
Ans.
Books of Mehta Ltd.
Journal
Date Particulars LF Dr () cr ()
2013 10% Debentures A/c Dr. 90,00,000
March 31 | Premium on redemption of Debentures 1
A/c Dr. 9,00,000
To Debenture holders’ A/c 99,00,000
(For redemption amount due to
debenture holder)
March31 | Debenture holders’ A/c Dr. 99,00,000
To Bank A/c 99,00,000 Y
(For redemption money paid to debenture
holders)
March 31 | Debenture redemption reserve A/c Dr. 45,00,000 %
To General Reserve A/c 45,00,000




(For DRR transferred to General Reserve

Ans.

a) Rajeev’s old share = 3/5

Rajeev surrenders % of 3/5 in favour of Vijay i.e. % * 3/5 =3/20

Sanjeev’s old share = 2/5

SanjeeV’s surrender 1/3 * 2/5 =2/15
Rajeev’s new share =3/5-3/20=(12-3) /20=9/20

Sanjeev’s new share =2/5—-2/15 = 4/15

Vijay’s new share =3/20 + 2/15 =17/60

Account)
Value observed by Mehta Ltd. (Any one)
e Concern for environment 1
e Empathy towards health of human beings
e Social Welfare =3 marks
e Compliance of Law
(Or any other suitable value)
11 11 | Q. RaMaN....ciiiirreecinineesnnieenenes Raman’s Capital Account.
Ans.
Dr. Revaluation A/c Cr.
Particulars Amount (%) Particulars Amount (%)
To Stock A/c 6,000 | By Building A/c 5,200
To Debtors A/c 1,000 | By Creditors A/c 2,000
To Plant A/c 3,000 | By Partner’s Capital A/c 2%
Raman 1,600
Ratan 800
Rajan 400 2,800
10,000 10,000
Dr. Raman’s Capital A/c Cr.
Particulars Amount (%) Particulars Amount ()
To Revaluation A/c 11,600 | By Balance b/d 60,000
1%
To Raman’s Loan A/c @0,400 By General Reserve A/c @12,000
(2 15+1%)
72,000 72,000 =4 Marks
- 12 | Q. (2) RQJEeVS..ccreeeeenecceerrereennnnneeeenes ratio




b)

Therefore, the new profit sharing ratio of Rajeev, Sanjeev and Vijay =9/20 : 4/15: 17/60

Anita and Sunita......ccceeeeuneen. ratio
Vinita’s share =%
Remaining share=1-% =%
New share of Anita=2/3*% =%
New share of Sumita=1/3*% =%
New profit sharingratio=%:%:%
=2:1:1
Sacrifice = Old share of profit — New share of profit

Anita Sacrifice =3/5-2/4=2/20

Sunita Sacrifice =2/5-%=3/20

Sacrificing ratio = 2/20:3/20 = 2:3

=(27:16:17) / 60
=27:16:17

%

=2 marks

1 mark

1 mark
(2+2)

=4 marks

12
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13

Q. ALtd..cceueireeirieireeeieenereeereeeseenes books of A Itd.

A Ltd.
Journal

Date

Particulars

L.f.

Dr.
Amt (%)

Cr.
Amt (%)

a) Plant A/c Dr.

Building A/c Dr.
Debtors A/c Dr.
Stock A/c Dr.

Furniture A/c Dr.
To Creditors A/c
To B Ltd
To Capital Reserve A/c
(For Business of B Ltd. Purchased at profit)

40,000
40,000
30,000
50,000
20,000

20,000
1,50,000
10,000




Ans.
i.

b) (i)BLtd Dr. 1,20,000
To Equity Share Capital A/c 1,00,000
To securities premium reserve A/c 20,000 2
(For shares issued at premium in consideration)
(ii)B Ltd Dr. 30,000
To Cash A/c/ Bank A/c 30,000
(For balance paid in cash)
b) Or (Combined Entry)
B Ltd. Dr. 1,50,000
To Share Capital A/c 1,00,000
To Security Premium Reserve A/c 20,000
To Cash/ Bank A/c 30,000
(For payment made and shares issued)
=4 Marks
14 | 12 | 14 | Q. ALtd...oeeeerrenirreeireeeereeenees for the same.
Ans.
Balance Sheet of A Ltd.
Asat......ccceeeeueeee. (As per revised schedule VI)
Particulars Note No. Amount Amount
Current year Previous year
EQUITY & LIABILITIES
| Shareholder’s funds : 1
c) Share Capital 1 4,80,000
Notes to Accounts :
Particulars T
(3) Share Capital
Authorised Capital :
1,00,000 equity shares of ¥ 10 each 10,00,000 1
Issued Capital
50,000 equity shares of ¥ 10 each 5,00,000 1
Subscribed and fully paid capital
48,000 shares of T 10 each 4,80,000 1
(1x4)
4 Marks
- - 15 | Q.ABandC.....ccccceeernnnnee at 2,50,000.




A’s Capital A/c

Particulars Amt (%) Particulars Amt (%)
To A’s Executors A/c @ { 5,92,500 | By Balance B/d 3,00,000
By Revaluation A/c 5,000
By Reserves A/c 30,000
By Profit & loss suspense A/c 75,000
By B’s Capital A/c 96,000 }
By C’s Capital A/c 64,000 -
By Interest on Capital A/c 22,500
5,92,500 5,92,500

ii.  Value highlighted:

e Help to society

(OR any other suitable value)

Working Notes:
Calculation of goodwill =

Average profit = 1,00,000 + 1,60,000 + 1,80,000 +2,00,000 / 4 = 6,40,000 / 4 = X 1,60,000

Goodwill =2 * 1,60,000 = ¥ 3,20,000

A’s share of goodwill = 5/10 * 3,20,000 = ¥ 1,60,000

Gaining ratio = 3:2

B’s Capital = 3/5* 1,60,000 = X 96,000
C’s Capital = 2/5 * 1,60,000 = X 64,000

Revaluation A/c

Dr. Cr.
Particulars T Particulars T
To Patents A/c 20,000 | By Balance 50,000
To Machinery A/c 20,000
To Profits transferred to
A’s Capital 5,000
B’s Capital 3,000
C’'s Capital 2,000 10,000
50,000 50,000

A’s share of profit

Profits of 2012 = ¥ 2,00,000

A’s share of profit = 2,00,000 * 5/10 * 9/12 = ¥ 75,000
Calculation of Interest on A’s Capital = 3,00,000 * 10/100 * 9/12 = X 22,500
NO MARKS FOR WORKING NOTES

=6 Marks

15
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Q. ABandC.....ccceveeerreeirennncrennnnes

Ans.

for the above.




Table showing adjustments

Particulars A (%) B(X) C(R) Total (%)
Profits already distributed  (Dr.) 1,00,000 1,00,000 1,00,000 3,00,000
Salary (Cr.) 60,000 60,000
Commission (Cr.) 80,000 80,000 4
Interest on Capital (Cr.) 30,000 15,000 15,000 60,000
Profits (Cr.) 50,000 25,000 25,000 1,00,000
Total (Cr.) 1,60,000 40,000 1,00,000 3,00,000
Net effect 60,000(Cr) | 60,000(Dr) -
Journal
Date Particulars LF Dr () cr(X)
B’s Capital A/c Dr. 60,000
To A’s Capital A/c 60,000 2
(For adjustment of omissions through
capital accounts of partners)
Note: If the Examinee has presented the working in any other suitable manner, full credit =6 Marks
should be given.
17 | 18 | 17 | Q. Alfaand Beta......ccceeeereeennrreennnenrennn. society.
Ans.
Revaluation A/c
Dr. Cr.
Particulars T Particulars T
To Creditors A/c 20,000 | By Outstanding Expenses A/c 18,00
To unforeseen liabilities A/c 20,000 | By Partner’s Capital A/c @ 2
Alfa - 11,000
Beta - 11,000 22,00
40,000 40,000
Partners’ Capital A/c
Dr. Cr.
Particulars Alfa Beta Gama Particulars Alfa Beta Gama
g T T T g
To Profit & 20,000 20,000 --- | By Balance b/d 5,00,000 | 6,00,000 ---
Loss A/c
By Workmen
To Comp. Fund 13,000 13,000 --- 2%
Revaluation 11,000 11,000 - | Afc
Alc
By Bank A/c - --- | 4,00,000
To Balance 4,82,000 | 6,12,000 | 4,00,000 | By Gama’s - 30,000 ---
c/d Current A/c @ @
5,13,000 | 6,43,000 | 4,00,000 5,13,000 | 6,43,000 | 4,00,000




Sacrificing Ratio : Alfa="7% -3/6 = Nil

Beta=1%-2/6=1/6

Balance Sheet of the Reconstituted firm
as at 1** April 2013

Liabilities Amount Assets Amount
) )
Liability of workmen’s Cash in Hand (4,00,000 + 1,80,000
compensation claim 30,000 | 1,00,000-3,20,000)
Outstanding Expenses 12,000 | Sundry Debtors 7,60,000
Unforeseen Liability 20,000 | Stock 2,00,000 2%
Capital: Machinery 3,86,000
Alfa— 4,82,000 Gama’s Current A/c 30,000
Beta— 6,12,000
Gama - 4,00,000 14,94,000
15,56,000 15,56,000
Value (Any One):
e Empathy towards handicapped people. 1
e Social Welfare
e Empathy towards financially weaker persons. (2+2%
e Providing opportunities to specially abled persons. +2% +1)
(Or any other suitable value) =8 Marks
17 | 18 | 17 Q. Ram and Shyam...........ccccovrrrrrrnennnccceenns society.
OR | OR | OR | Aps.
Realisation A/c
Particulars Amt (%) Particulars Amt (%)
To Land A/c 1,20,000 | By Creditors A/c 65,000
To Machinery A/c 65,000 | By Bills Payable A/c 35,000
To Goodwill A/c 10,000 | By Bank A/c 3
To Debtors A/c 20,000 Land — 96,000
To Stock A/c 25,000 Machinery — 35,000
To Ram’s Capital A/c (65,000 — 55,250 Stock - 18,750
9,750) (Creditors) Debtors— 12,500 1,62,250
To Shyam’s Capital A/c (B/P) 35,000 | By partners’ capital a/c
To Shyam’s Capital A/c 1,750 | Ram: 27,900
( Realisation Expense) Shyam : 41,850 69,750
3,32,000 3,32,000




Partners’ Capital A/c

Dr. Cr.
Particulars Ram Shyam Particulars Ram Shyam
T T T T
To Realistion A/c 27,900 41,850 | By Balance b/d 75,000 75,000
To Bank A/c 1,02,350 69,900 | By Realisation A/c 55,250 36,750 2
1,30,250 | 1,11,750 1,30,250 | 1,11,750
Bank A/c
Dr. Cr.
Particulars T Particulars T
To Cash A/c 10,000 | By Ram’s Capital A/c 1,02,35
To realistion A/c (assets) 1 1,62,250 | By Shyam'’s Capital A/c 69,900 @ 2
1,72,250 1,72,250
Value (Any One):
e Protection of environment by plantation of trees
e Community welfare 1
(Or any other suitable value)
= 8marks
18 | 17 | 18 | Q. CLtd..ccccviriririiiriiirsnsnnnnnnnessnnnens books of L Ltd.
Ans.
(a)
Books of C Ltd.
Journal
Date Particulars L| Dr. Amt (X) | Cr. Amt (%)
F
Share Capital A/c Dr. 80,000
To Discount on issue of shares A/c 8,000
To Share first call A/c / Calls in arrears A/c 30,000 1%
To Share Forfeiture A/c / Forfeited shares A/c 42,000
(Being 1,000 shares forfeited for non
payment of first call)
Bank A/c Dr. 70,000
Discount on issue of shares A/c Dr. 8,000
Share forfeiture A/c /Forfeited shares A/c Dr. 2,000 1%
To Share Capital A/c 80,000
(Being 1,000 shares reissued at a discount)
Share forfeiture A/c/ Forfeited shares A/c Dr. 40,000
To Capital reserve A/c 40,000
(Being forfeiture balance transferred to capital 1
reserve)




(b)

Books of L Ltd.
Journal
Date Particulars L| Dr.Amt(X) | Cr. Amt (%)
F
Equity Share Capital A/c Dr. 7,050
Securities Premium Reserve A/c Dr. 1,410
To Share Allotment A/c 3,760
To Share first call A/c 2,350
To Share Forfeiture A/c/ Forfeited shares A/c 2,350
(Being 470 shares forfeited for non payment
of allotment & first call) 1%
OR
Equity Share Capital A/c Dr. 7,050
Securities Premium Reserve A/c Dr. 1410
To Calls In Arrear A/c 6,110
To Share Forfeiture A/c/ Forfeited shares A/c 2,350
(Being 470 shares forfeited for non payment
of allotment & first call)
1 Bank A/c Dr. 4,465
Share forfeiture A/c / Forfeited shares A/c Dr. 235
To Equity Share Capital A/c 4,700 1%
(Being 470 shares reissued at a discount)
Share forfeiture A/c / Forfeited shares A/c Dr. 940
To Capital reserve A/c 940 1
(Being forfeiture balance transferred to capital (4+4)
reserve) =8 Marks
18 | 17 | 18 | Q. RLtd. .ccoovviiiririnnennnnnnnnnnnnnnns of the company.
OR | OR | OR | Ans.
Books of R Ltd.
Journal
Date Particulars Dr.Amt | Cr. Amt (%
F ) )
Bank A/c Dr. 1,80,000
To Share Application A/c 1,80,000 %
(For application money received on 9,000
shares)
Share Application A/c Dr. 1,80,000
To Equity Share Capital A/c 1,80,000 7
(For share allotment made)




Share Allotment A/c Dr. 2,70,000
Discount on issue of shares A/c Dr. 36,000

To Equity Share Capital A/c 3,06,000 1
(For allotment money made due on 9,000
shares)
Bank A/c Dr. 2,70,000

To Share Allotment A/c 2,70,000 1
(For alltment money received on 9,000 shares)
Share first and final call A/c Dr. 4,14,000

To Equity Share Capital A/c 4,14,000 1
(Being first and final call money due)
Bank A/c Dr. 3,95,600

To Share first and final call a/c 3,95,600
(For first & final call received except on 400 1
shares)

OR
Bank A/c Dr. 3,95,600
Calls in arrears A/c Dr. 18,400
To Share first and final call a/c 4,14,000

(For first & final call received except on 400
shares)
Share Capital A/c Dr. 40,000
To Discount on issue of shares A/c 1,600
To Share first and final call /Calls in arrears A/c 18,400 1
To Share Forfeiture A/c/ Forfeited shares A/c 20,000

(Being 400 shares forfeited)
Bank A/c Dr. 27,000
Discount on issue of shares A/c Dr. 1,200
Share forfeiture A/c / Forfeited shares A/c Dr. 1,800 1

To Equity Share Capital A/c 30,000
(For shares reissued for 9 per share fully paid
up)
Share forfeiture A/c / Forfeited shares A/c Dr. 13,200
To Capital reserve A/c 13,200 1
(Being forfeiture balance transferred to capital
reserve)

=8 Marks
PARTB
(Financial Statements Analysis)
21 | 21 | 19 | Q. State with ....cccceecciiiiiiiirrcennnnnn. flow statement. 1 Mark

Ans. No flow of cash

Reason: Debentures are issued to vendor for purchase of machinery so neither cash inflow nor

cash outflow takes place.




19 - 20 | Q. State anyone........cccceeeirrennnnnns statements. 1 Mark
Ans. Objectives of Financial Statements Analysis (ANY ONE)
e To measure the earning capacity or profitability
e To measure the solvency
e To measure the financial strength
e To make comparative study with other firms
e To measure the capability of payment of interest and dividend
e To identify the trend of the business
e To judge the efficiency of the management
e To provide the useful information of the management
- - 21 | Q. What is ..cceeeeeeeniiiiiriinnnennnnennanns Statement? 1 mark
Ans. Cash outflow means payment in respect of non cash items through cash and cash
equivalents.
22 | 22 | 22 | Q. State under which ............ccceveeuneenn. Companies Act, 1956.
Ans.
S.No. Items Major Headings
1 Long Term Borrowings Non current Liabilities
2 Trade Payables Current Liabilities
3 Provision for tax Current Liabilities
4 Securities Premium Reserve Shareholders’ Funds %x6
5 Patents Non current assets =
6 Accrued Incomes Current assets 3 Marks
23 | 23 | 23 | Q. From the following ........ccccuuueceirrrreennneeee. ratio.
Ans.
(e) Gross Profit ratio = Gross Profit / Net revenue from operations * 100 Y
Gross Profit = Revenue from Operations — Cost of revenue from operations
=30,00,000 - 20,00,000 = ¥ 10,00,000 %
Net Revenue from operations = X 30,00,000
Gross profit ratio = 10,00,000 / 30,00,000 * 100 = 33.3% 1
(f) Working capital turnover ratio = Net revenue from operations / Working Capital Y
Net revenue from operations = ¥ 30,00,000
Working Capital = Current Assets — Current Liabilities = 6,00,000-2,00,000
=% 4,00,000 %
Working capital turnover ratio = 30,00,000/4,00,000 = 7.5 times 1
=4 Marks
- - 24 | From the following .................. Loss.

Ans.




COMPARATIVE STATEMENT OF PROFIT & LOSS
For the years ended 31* March, 2012 and 2013

Particulars Note | 2011-12 2012-13 | Absolute | Change
No. (%) (%) Change In %age
Revenue from Operations 25,00,000 | 20,00,000 | (5,00,000) (20) %
Less: Expenses
Employees’ benefit expenses 6,00,000 5,00,000 | (1,00,000) (16.67) %
Other Expenses 1,50,000 | 1,00,000 (50,000) (33.33) %
Total Expenses 7,50,000 6,00,000 | (1,50,000) (20) Y
Profit before Tax 17,50,000 | 14,00,000 | (3,50,000) (20) %
Less: Tax @ 50% 8,75,000 | 7,00,000 | (1,75,000) (20) %
Profit after tax 8,75,000 | 7,00,000 | (1,75,000) (20) 1
=4 Marks
25 | 25 | 25 | Q. Prepare a Cash flow Statement ............... was < 28,000.
Ans.
Cash flow statement
For the year ended 31* March 2013 as per AS-3 (Revised)
Particulars Details (%) Amount (%)
A.Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items 1,26,000
Add: Depreciation on machinery 28,000
Less: Profit on sale of machinery (14,000)
Operating_ profit before working capital changes 1,40,000
Add: Increase in trade payables 98,000
Decrease in inventories 42,000
Less: Increase in trade receivables (2,10,000)
Cash generated from Operating Activities 70,000 2%
B.Cash flows from Investing Activities :
Purchase of machinery (1,82,000)
Sale of machinery 56,000
Cash used in investing activities (1,26,000) 1%
C.Cash flows from Financing Activities:
Issue of share capital 70,000
Cash from financing activities 70,000 1
Net increase in cash & cash equivalents(A+B+C) 14,000
Add: Opening balance of cash & cash equivalents: 84,000 1
Closing Balance of cash & cash equivalents: 98,000

=6 marks




Working Notes:
Dr Machinery A/c Cr

Amt (X) Amt (X)
2,80,000 28,000
14,000 56,000
1,82,000 3,92,000

Particulars Particulars
To Balance b/d
To Profit & Loss A/c (Profit)

To Bank A/c (Purchase)

By Depreciation A/c
By Bank A/c
By Balance C/d

4,76,000

4,76,000

PART C
(Computerized Accounting)

20

21

19

Q. Give any.......cceveeeeennes can be created.

Ans. Query can be created in the following ways: (Any 2)
e Design View
e Wizard
e SQL View

Y+
=1 mark

21

19

20

1 mark

19

20

21

Ans. Any One of the following advantages:
e Timely generation of reports and information in desired format.
e Efficient record keeping.
e Ensures effective control over the system.
e Economy in the processing of accounting data.
e Confidentiality of data is maintained.

1 mark

22

22

22

Q. EXPlain......ceereeneeerreenncernnennnens system.

Ans. Scalability: CAs enable in changing the volume of data processing in tune with the change
in the size of the business. The software can be used for any size of the business and type of the
organisation.

Reliability: CAs make sure that the generalised critical financial information is accurate,
controlled and secured.

1%

1%
=3 marks

23

24

23

Q. State.....ceeueeennnnnnnnnnnnnnneennnennn formula.
Ans. To validate data based on formula following are the steps:
13. In the Allow drop down menu, select Custom.
14. In the formula box, enter a formula that calculates a logical value. If the formula
calculates true entry will be valid otherwise invalid.
15. We can also prevent duplicate entries by checking duplicate entry.
16. We can limit the sum value for a range which will cause error if sum of the values
exceeds the given total.
17. We can prevent user from adding spaces before or after the text in entry. The TRIM
function removes spaces before and after text.
18. By activating or selecting WEEKDAY function, the entry of dates that falls on weekend
can also be prevented.

4 marks

24

23

24

Q. Explain.....ccceveiiiiiiiiiinnnnnnnniiennns objects.
Ans.




Tables: The object which is used to hold data/raw data in a data base.

Forms: This object class provides information about the application, manipulates data in
a table.

Reports: This object class is used to show the results generated in report form based on
tables, queries or both.

Macros: A macro is a list of macro oriented actions that run as a unit, so they help us to

automate and speed up the work.

(1*4)
=4 marks

25

(e) Name of the function — ACCRINT

Syntax : Issue first_int, settlement, rate, par, frequency, basis calc_method)
Where,

Issue: Security issue date

First Interest: Security’s first interest date

Settlement: is the security’s settlement date which is after date of issue, when the
security is traded to the buyer.

Rate: Security’s annual coupon rate

Par: par value by default it is ¥ 100

Frequency: Number of coupon payments per year.

Basis: is the type of day count basis to use.

(f) B2=IF (A2>15000, 0.15*A2, 0.1*A2)

1 mark

3 marks

2 marks

=6 marks
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